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Quadratic Functions

Another type of non-linear function i
looks kind of like a U. We frequentl
or being thrown. We will explore a

Objectives: | can model a quadratic

relationship with a function table and graph.

sa quadratic function. The shape is called a parabola which
y see this type of function when gravity affects an object jumping
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No matter how hard you Kick or throw a ball into the air, gravity always returns it to Earth. In this pr

will see how the height of a football changes over time.
Suppose vou filmed a ball as it is thrown straight up as high as possible. If you studied the films frame by
frame. you would find that the time. t, in seconds and the I, height, in feet are related by an equation similar to

this:

oblem, you

H=—160 + 40t + 4

1 = time (seconds)
H = the height (feet)

Football Equation:

1. Complete the table and graph for the relationship. (Round the height to the nearest tenth of a foot.)
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> Describe the pattern of change for the ball in the hclg.h
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Circle the correct response for each.

L intercept form or y mx + b.
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£ Equation: if the relationship is represented as an equauon

then try to write the equation in slope-
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onship is represented as a table, then the rate_of chfnge m
e is constantthighd called the slope Tallinearrelati

ust be the same through
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As x increases by 2, y decreases A5 Finicreases by 3, y increases
by 15 each time. The rate of byaéieateramount each time.
change is constant, so this The rate of change is not

function is linear.

Circle the correct response for each.
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Practice. w

Determine whether each table,

nonlinear function. Explain.
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constant, so this function is
nonlinear.

graph, or equation represents a linear or
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